

احمدك غرداسه بيزاك
(والمن بزار)

$$H = H_0 + \lambda H_1$$

$$H_0 |n^{(0)}\rangle = E_n^{(0)} |n^{(0)}\rangle$$

$$H |n\rangle = E_n |n\rangle$$

$$E_n - E_n^{(0)} \sim O(\lambda)$$

$$|n\rangle - |n^{(0)}\rangle \sim O(\lambda)$$

$$* E_n = E_n^{(0)} + \sum_{i=1}^{\infty} \lambda^i E_n^{(i)}$$

$$|n\rangle = |n^{(0)}\rangle + \sum_{i=1}^{\infty} \lambda^i |n^{(i)}\rangle$$

Ansatz:
$$|n\rangle = \left(N(\lambda) |n^{(0)}\rangle + \sum_{k \neq n} C_{nk}(\lambda) |k^{(0)}\rangle \right)$$

$$C_{nk}(\lambda) = \sum_{i=1}^{\infty} \lambda^i C_{nk}^{(i)}$$

$$\langle n | n \rangle = 1$$

$$H |n\rangle = E_n |n\rangle$$

$$(H_0 + \lambda H_1) \left\{ \begin{array} {l} \\ \end{array} \right\} = (*) \left\{ \begin{array} {l} \\ \end{array} \right\}$$

$$\lambda^0 : H_0 |n^{(0)}\rangle = E_n^{(0)} |n^{(0)}\rangle$$

$$\lambda^1 : H_1 |n^{(0)}\rangle + \sum_{k \neq n} C_{nk}^{(1)} H_0 |k^{(0)}\rangle = E_n^{(1)} |n^{(0)}\rangle + \sum_{k \neq n} C_{nk}^{(1)} E_n^{(0)} |k^{(0)}\rangle$$

$$\lambda^2 : \sum_{k \neq n} C_{nk}^{(1)} H_1 |k^{(0)}\rangle + \sum_{k \neq n} C_{nk}^{(2)} H_0 |k^{(0)}\rangle =$$

$$= \sum_{k \neq n} C_{nk}^{(2)} E_n^{(0)} |k^{(0)}\rangle + \sum_{k \neq n} C_{nk}^{(1)} E_n^{(1)} |k^{(0)}\rangle$$

$$+ E_n^{(2)} |n^{(0)}\rangle$$

λ^3
:

$$E_n^{(1)} = \langle n^{(0)} | H_1 | n^{(0)} \rangle \quad E_n^{(1)}$$

$$|n^{(1)}\rangle = \frac{N(\lambda)}{1 + O(\lambda^2)} \sum_{k \neq n} C_{nk}^{(1)} |k^{(0)}\rangle$$

$$C_{nk}^{(1)} = \frac{\langle k^{(0)} | H_1 | n^{(0)} \rangle}{E_n^{(0)} - E_k^{(0)}} \quad n=0$$

$$|n^{(1)}\rangle = \sum_{k \neq n} \frac{|k^{(0)}\rangle \langle k^{(0)} | H_1 | n^{(0)} \rangle}{E_n^{(0)} - E_k^{(0)}}$$

$$\sum_{k \neq n} C_{nk}^{(2)} E_k^{(0)} \langle n^{(0)} | k^{(0)} \rangle + \sum_{k \neq n} C_{nk}^{(1)} \langle n^{(0)} | H_1 | k^{(0)} \rangle$$

$$= \sum_{k \neq n} C_{nk}^{(2)} E_n^{(0)} \langle n^{(0)} | k^{(0)} \rangle + \sum_{k \neq n} C_{nk}^{(1)} E_n^{(1)} \langle n^{(0)} | k^{(0)} \rangle$$

$$+ E_n^{(2)} \underbrace{\langle n^{(0)} | n^{(0)} \rangle}_{=1}$$

$$+ \underbrace{c_n}_{=1} \langle n | n \rangle$$

$$\langle n^{(0)} | k^{(0)} \rangle = \delta_{nk} = 0 \quad n \neq k$$

$$\langle n^{(0)} | n^{(0)} \rangle = \delta_{nn} = 1$$

$$E_n^{(2)} = \sum_{k \neq n} C_{nk}^{(1)} \langle n^{(0)} | H_1 | k^{(0)} \rangle$$

$$E_n^{(2)} = \sum_{k \neq n} \frac{\langle n^{(0)} | H_1 | k^{(0)} \rangle \langle k^{(0)} | H_1 | n^{(0)} \rangle}{E_n^{(0)} - E_k^{(0)}}$$

$$= \sum_{k \neq n} \frac{|\langle n^{(0)} | H_1 | k^{(0)} \rangle|^2}{E_n^{(0)} - E_k^{(0)}}$$

$$H = H_0 + \lambda H_1$$

$$\vec{E} = e E \hat{e}_3$$

$$H_1 = e \vec{E} \cdot \vec{x}$$

$$E_n = \underbrace{E_n^{(0)}}_{n=0} + \lambda E_n^{(1)} + \lambda^2 E_n^{(2)} + \dots$$

truncation

$$C_{nm}^{(2)} = \sum_{k \neq n} \frac{\langle m^{(0)} | H_1 | k^{(0)} \rangle \langle k^{(0)} | H_1 | n^{(0)} \rangle}{(E_n^{(0)} - E_m^{(0)}) (E_n^{(0)} - E_k^{(0)})}$$

$$+ \frac{\langle m^{(0)} | H_1 | n^{(0)} \rangle \langle n^{(0)} | H_1 | n^{(0)} \rangle}{(E_n^{(0)} - E_m^{(0)})}$$

$$|n^{(2)}\rangle = \underbrace{N(\lambda)}_{1 - \frac{1}{2} \sum_{k \neq n} |C_{nk}^{(1)}|^2 \lambda^2} \left\{ \sum_{k \neq n} C_{nk}^{(2)} |k^{(0)}\rangle \right\}$$

نظریه اختلال دایمن (فردا بسته به زمان)

$$n \neq k \Leftrightarrow E_n^{(0)} \neq E_k^{(0)}$$

$$n \neq k \not\Rightarrow E_n^{(0)} \neq E_k^{(0)}$$

$$|n^{(i)}\rangle \neq |k^{(i)}\rangle$$

$$H^{(0)} |n_i^{(0)}\rangle = E_n^{(0)} |n_i^{(0)}\rangle \quad i = 1, \dots, l$$

$$\langle n_i^{(0)} | m_j^{(0)} \rangle = \delta_{ij} \delta_{nm}$$

$$\langle n^{(0)} | m^{(0)} \rangle = \delta_{nm}$$

Ansatz:

$$|n\rangle = N(\lambda) \left\{ |n^{(0)}\rangle + \sum_{k \neq n} C_{nk}(\lambda) |k^{(0)}\rangle \right\}$$

$$|n\rangle = N(\lambda) \left\{ \sum_{i=1}^l \alpha_i |n_i^{(0)}\rangle + \sum_{k \neq n} C_{nk}(\lambda) \sum_{i=1}^l \beta_i |k_i^{(0)}\rangle \right\}$$

$$C_{nk}(\lambda) = \sum_{f=1}^{\infty} \lambda^f C_{nk}^{(f)}$$

$$H |n\rangle = E_n |n\rangle$$

$$H |n\rangle = E_n |n\rangle$$

$$(H_0 + \lambda H_1) \left\{ \sum_{i=1}^{\ell} \alpha_i |n_i^{(0)}\rangle + \sum_{k \neq n} \lambda C_{nk}^{(1)} \sum_{i=1}^{\ell} \beta_i |k_i^{(0)}\rangle + \dots \right\}$$

$$= (E_n^{(0)} + \lambda E_n^{(1)} + \dots) \left\{ \sum_{i=1}^{\ell} \alpha_i |n_i^{(0)}\rangle + \sum_{k \neq n} \lambda C_{nk}^{(1)} \sum_{i=1}^{\ell} \beta_i |k_i^{(0)}\rangle + \dots \right\}$$

$$\lambda^0: H_0 \sum_{i=1}^{\ell} \alpha_i |n_i^{(0)}\rangle = E_n^{(0)} \sum_{i=1}^{\ell} \alpha_i |n_i^{(0)}\rangle$$

$$\lambda^1: H_1 \sum_{i=1}^{\ell} \alpha_i |n_i^{(0)}\rangle + \sum_{k \neq n} C_{nk}^{(1)} \underbrace{H_0 \sum_{i=1}^{\ell} \beta_i |k_i^{(0)}\rangle}_{E_n^{(0)} \sum_{i=1}^{\ell} \beta_i |k_i^{(0)}\rangle}$$

$$= E_n^{(0)} \sum_{k \neq n} C_{nk}^{(1)} \sum_{i=1}^{\ell} \beta_i |k_i^{(0)}\rangle + E_n^{(1)} \sum_{i=1}^{\ell} \alpha_i |n_i^{(0)}\rangle$$

$\lambda^2: \dots$

$$E_n^{(1)} = ?$$

$$\sum_{i=1}^{\ell} \alpha_i \langle n_j^{(0)} | H_1 | n_i^{(0)} \rangle + \sum_{k \neq n} C_{nk}^{(1)} E_n^{(0)} \sum_{i=1}^{\ell} \beta_i \langle n_j^{(0)} | k_i^{(0)} \rangle$$

$$= E_n^{(0)} \sum_{k \neq n} C_{nk}^{(1)} \sum_{i=1}^{\ell} \beta_i \langle n_j^{(0)} | k_i^{(0)} \rangle + E_n^{(1)} \sum_{i=1}^{\ell} \alpha_i \langle n_j^{(0)} | n_i^{(0)} \rangle$$

$$\langle n_j^{(0)} | k_i^{(0)} \rangle = \delta_{ij} \delta_{nk} = 0 \quad k \neq n$$

$$\sum_{i=1}^{\ell} \langle n_j^{(0)} | H_1 | n_i^{(0)} \rangle \alpha_i = E_n^{(1)} \alpha_j$$

$$(H_1)_{ji} \alpha_i = E_n^{(1)} \alpha_j$$

$$\boxed{\tilde{H}_1 \vec{\alpha} = E_n^{(1)} \vec{\alpha}}$$